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Matrices02 Answers for No.9395
ExerciseMatrices02 Answers for No.9395

01 : det(h) = -12 02 : det(B) = -20
03 : det(C) = 16 04 : det (D) = -8
05 : det(E) = -28 06 : det(F) = 15
07 : m*det (C)-det (pE) = 240 08 : det(m*D)-p*det (F) = -38
09 : x = -2 10 ¢y = -2

1 1

3 3

Noll=|Inv(G)=| Sl

3 15
12 : det(pA) = -9 X = 2 y = 5
13 : det(A) = -10 X = -6 y = 4
14 : det(A) = 14 x = 8 y = 4 z = 3
15 : det(pA) = -15 X = =2 y = 3 z = -8

X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXKXX XXX XXX KXKXXXKXKXKXKXMS/1-6500311-00002XX
Matrices02 Answers for No.9419
ExerciseMatrices02 Answers for No.9419

01 : det(A) = =20 02 : det(B) =7
03 : det(C) = 10 04 : det (D) = 45
05 : det(E) = -112 06 : det(F) = 6
07 : m*det (C)-det(pE) = 7188 08 : det (m*D)-p*det (F) = 156
09 : x =3 10 : vy =2

-1

—_ -1

2

Noll = InV(G){ ; .,

- 1

4
12 : det(pA) = -28 X = -8 y = 4
13 : det(Ar) = 35 x = -2 y = -3
14 : det(pA) = -10 x = =5 y = 4 z = 2
15 : det(pa) =1 x = =3 y = =2 z = =5

X Math@MUT XXXXXXXXXXXXXXXXKXXXXXXXXXXXXXXXXX XXX XXXXXXXXXXXM5/1-6500311-00003XX
Matrices02 Answers for No.9428
ExerciseMatrices02 Answers for No.9428

01 : det(pn) = 14 02 : det(B) = -12

03 : det(C) = -16 04 : det (D) = 24

05 : det(E) = 12 06 : det(F) = 52

07 : m*det (C)-det (pE) = -44 08 : det (m*D)-p*det (F) = 44
09 : x = -2 10 : vy = 4

-1 -2
7 7
Noll =| Inv(G) = 3 , ,

14 14

12 : det(A) = -4 X = 2 y = -6

13 : det(p) = 12 x = 4 y =7

14 : det(pA) =7 x = =7 y = -8 z = =3

15 det (A) = 3 x = =7 y = 2 z = 8
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Matrices02 Answers for No.9459
ExerciseMatrices02 Answers for No.9459

01 : det(pa) = -7 02 : det(B) = -21

03 : det(C) = -14 04 : det (D) = 180

05 : det(E) = 46 06 : det(F) = 72

07 : m*det (C)-det (pE) = -2972 08 : det (m*D)-p*det (F) = 432
09 : x =2 10 : vy =4

-2 1
7 7
Noll=|Inv(G)= .
0 v(G) 3 5
14 14
12 : det(A) = 20 X = 2 y = -5
13 : det(pa) =7 x = =5 y = -6
14 : det(A) = 12 x = =7 y = -5 z = 4
15 : det(A) = 6 x = 4 y = 2 7z = -7
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Matrices02 Answers for No.9476
ExerciseMatrices02 Answers for No.9476

01 : det(A) = -16 02 : det(B) = -11
03 : det(C) = 26 04 : det (D) = 40
05 : det(E) = 28 06 : det(F) = -26
07 : m*det (C)-det(pE) = -120 08 : det(m*D)-p*det (F) = 692
09 : x =3 10 : vy = -2

5 1

32 8

Noll=|v(G)=| S

32 8
12 : det(pA) = -21 X = 2 y = -5
13 : det(A) = -5 X = 2 y = 4
14 : det(pn) = 4 x = -4 y = 6 z = 2
15 : det(A) = -10 X = -3 y = 6 z = 4

X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXXXXXXXXXXXM5/1-6500311-00006XX
Matrices02 Answers for No.9491
ExerciseMatrices02 Answers for No.9491

01 : det(A) = 20 02 : det(B) -13

03 : det(C) = -82 04 : det (D) = -29

05 : det(E) = -64 06 : det(F) = 9

07 : m*det (C)-det (pE) = 430 08 : det (m*D)-p*det (F) = -47
09 : x =4 10 : vy = 2

5 2
23 23
Noll =| Inv(G) = P 3 , ,

23 23

12 : det(n) = 6 X = 8 y = -4

13 : det(nA) = 9 X =6 y = -2

14 det (A) =5 X = 2 y = 8 z =3

15 : det(pa) = -1 x = =4 y = 3 z = -8
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Matrices02 Answers for No.9633
ExerciseMatrices02 Answers for No.9633

01
03
05
07
09

12
13
14
15

det (A) = 12
det (C) = 7
det (E) = 38
m*det (C) —-det (pE) = -297
x = =3
Noll=|Inv(G)=
det (A) = 16 X = =2
det (A) = -16 x = 3
det (A) = 2 X = -6
det (A) = 3 X = =7

2
5
all
5
y =
y
y
y

02
04
06
08
10

Z

det (B) = 17
det (D) = -14
det (F) = 84
det (m*D) -p*det (F) = -182
y = -3
b b
= =2
= =2

X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXKXX XXX XXX KXKXXXKXXKXKXMS/1-6500311-00008XX
Matrices02 Answers for No.9711
ExerciseMatrices02 Answers for No.9711

01
03
05
07
09

12
13
14
15

X Math@MUT X

det (A) = 11
det (C) = 70
det (E) = 48

m*det (C) —-det (pE) = -1226

x = -4

Noll=|Inv(G)=

det (A) = 25 x = -4
det (A) = -4 x = 4
det (A) = 24 x =17
det (A) = 11 x = -7

Matrices02 Answers for No.9784
ExerciseMatrices02 Answers for No.9784

01
03
05
07
09

det(A) = 21
det (C) = 62
det (E) = -24
m*det (C) -det (pE) = 148
x = -3
Noll =| Inv(G) =

det (A) = -25 x = 3
det (A) = -11 x = 2
det (A) = 6 x = =7
det (A) = -4 x = -8

0003]

=8

= -2

= -5
y = -3

]
19
3
19

y

y

Yy

1
7
-1
7
y_
y
Yy

y =5

Z
Z

02
04
06
08
10

-5
21

21

Z
Z

det (B) = 22

det (D) = -76

det (F) = 46

: det (m*D) -p*det (F) = -214
y = 2

=4
=4

XXX XXX XXX XXX KKK KKK KKK KKK KKK KKK KKK K KKKKKKKKKXKKME/1-6500311-00009XX

det (B) -13
det (D) = -24
det (F) = 69
det (m*D) -p*det (F) = -165
y = -2
b b
= -2
= 6

):0:9:9.0:9:9.0:9:9.0:9:9.0:9:9.0:9:9.0:9:9.0:0:0.0:0:9.0:9.:9.0:9:0.0:0:0.0:0:0.0:0:9.0:0:9.0:0:9.0:0:9.0:0:0.0:0:0.0:0:0.0:¢
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Matrices02 Answers for No.10143
ExerciseMatrices02 Answers for No.10143

01 det (A) = 18
03 det (C) = -48
05 det (E) = 64
07 : m*det (C)-det (pE) = -4192
09 : x =4

-1

Noll=|Inv(G)=

1
12 det (A) = =22 x = =5 y = 3
13 det (A) = -26 X =3 y = 8
14 det (A) = -14 X = -6 y = 2
15 det (A) = -10 X = 6 y = 4

LI N K9

zZ
Z

det (B) = -17
det (D) = 188
det (F) = =72
: det (m*D) -p*det (F) = 1040
y = 4
b
=4
= -2

X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXKXXXKXXXKXXXKKXXKXXKXKKXKMS/1-6500311-00011XX

Matrices02 Answers for No.10359
ExerciseMatrices02 Answers for No.10359

01 det (A) = =23
03 det (C) = 20
05 det (E) = 32
07 : m*det (C)-det(pE) = -2008
09 : x =4
2
9
Noll=|Inv(G)=| |
18
12 det (A) =1 X = 6 y = 3
13 det (A) = 12 x = =7 y = -3
14 det (A) = 6 x = 3 y -8
15 det (A) = 13 X = -4 y =5

[

02
04
06
08
10

o~ o]

Z
Z

det (B) = -16
det (D) = -60
det (F) = 72
det (m*D) -p*det (F) = -528
y = -3
9 9
=5
= -3

X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXXXXKXXKXKKXKMS5/1-6500311-00012XX

Matrices02 Answers for No.10626
ExerciseMatrices02 Answers for No.10626

01 det (A) = 15
03 det (C) = -11
05 det (E) = -8
07 m*det (C) -det (pE) = 501
09 x = =2
-1
Noll =|Inv(G)=| 3
4
12 det (A) = 6 x =5 y = -6
13 det (A) = -14 x = 2 y = 4
14 det (A) = -5 x = -3 y = -2
15 det(pr) = 2 X = -6 y = -5
X [Page = 0004]

1
—

N | —

02
04
06
08
10

Z
Z

det(B) = 17
det (D) = 32
det (F) = -84
det (m*D) -p*det (F) = 368
y = 2
b
=5
= -3
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Matrices02 Answers for No.11002
ExerciseMatrices02 Answers for No.11002

01 : det(hA) = -10 02 : det(B) 11
03 : det(C) = 32 04 : det (D) 80
05 : det(E) = 52 06 : det(F) = 12
07 : m*det (C)-det(pE) = -288 08 : det (m*D)-p*det (F) = 1256
09 : x =4 10 : vy = -4

1

- 1

2

Noll = InV(G){ 3 .

- 1

4
12 : det(pA) = 19 X = 0 y = -5
13 : det(A) = 15 X =6 y =5
14 : det(A) = 9 X = 2 y = =7 z =5
15 : det(pA) = 8 x = =7 y = 5 z = -4

X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXX XXX XXX KXKXXKXKXXKXKXMS/1-6500311-00014XX
Matrices02 Answers for No.11188
ExerciseMatrices02 Answers for No.11188

01 : det(pA) = =21 02 : det(B) -19
03 : det(C) = 85 04 : det (D) = 37
05 : det(E) = 112 06 : det(F) -36
07 : m*det (C)-det(pE) = -811 08 : det (m*D)-p*det (F) = 109
09 : x = -4 10 : vy = -4

-1 1

8 4

Noll=|Inv(G)=| M

16 8
12 : det(hA) = -24 X = -6 y = 5
13 : det(p) = 2 X = -8 y = 4
14 : det(pA) = 3 X = 2 y = 5 z = =3
15 : det(pn) = -12 x = 3 y = 5 z = -6

X Math@MUT XXXXXXXXXXXXXXXXKXXXXXXXXXXXXKXXXKXXXKXXXKXXXXXXXXXXM5/1-6500311-00015XX
Matrices02 Answers for No.11505
ExerciseMatrices02 Answers for No.11505

01 : det(pn) = -12 02 : det(B) = 21

03 : det(C) = -2 04 : det (D) = -63

05 : det(E) = 128 06 : det(F) = 40

07 : m*det (C)-det(pE) = -134 08 : det(m*D)-p*det(F) = -607
09 : x = -2 10 : vy = 4

3 4
31 31
Noll =| Inv(G) = 4 5 , ,

31 31

12 : det(A) = 6 x =1 y = -8

13 : det(np) = 7 x = =7 y = -3

14 : det(pr) = -11 x = -4 y = 6 z =3

15 det (A) = -3 x = =7 y = 4 z = =3
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Matrices02 Answers for No.12113
ExerciseMatrices02 Answers for No.12113

01 : det(hA) = =20 02 : det(B) = 8
03 : det(C) = 8 04 : det (D) 18
05 : det(E) = -36 06 : det(F) = 200
07 : m*det (C)-det(pE) = 296 08 : det (m*D)-p*det (F) = -382
09 : x = -4 10 : vy =2

1 -1

8 8

Noll=|v(G)=| | s b

8 40
12 : det(pA) = -12 X = =3 y = -8
13 : det(A) = -8 X -3 y = =2
14 : det(A) = -8 X = 2 y = 8 z = =3
15 : det(pA) = -19 x =4 y = 2 z = =7

X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXKXX XXX XXX KXKXXKXXXKXKXMS/1-6500311-00017XX
Matrices02 Answers for No.12541
ExerciseMatrices02 Answers for No.12541

01 : det(pr) = 11 02 : det (B) -14
03 : det(C) = =56 04 : det (D) = 48
05 : det(E) = -105 06 : det(F) 24
07 : m*det (C)-det(pE) = 2779 08 : det (m*D)-p*det (F) = -24
09 : x =2 10 : vy =3
Noll = (Inv( G)= [i iD, ,
12 : det(pn) = 17 x = =3 y = -5
13 : det(Ar) = -28 x = 4 y = -8
14 : det(n) = -5 X = -0 y = 5 z =4
15 : det(A) = 18 X = =2 y = 3 zZ = 06

X Math@MUT XXXXXXXXXXXXXXXXKXXXXXXXXXXXXXXXKXXXKXXXXXXXXXXXXXM5/1-6500311-00018XX
Matrices02 Answers for No.12590
ExerciseMatrices02 Answers for No.12590

01 : det(pA) = =23 02 : det(B) = =21
03 : det(C) = 42 04 : det (D) = -82
05 : det(E) = 22 06 : det(F) = =20
07 : m*det (C)-det(pE) = =510 08 : det(m*D)-p*det (F) = -268
09 : x = -4 10 : vy = 4
-2 -1
5 5
Noll =| Inv(G) = N , ,
10 5
12 : det(pn) = =21 X = 2 y = =7
13 : det(na) = 12 X =6 y = -2
14 det (A) = -15 X =5 y =7 z =3
15 : det(hA) = 9 X = =2 y = 3 z = 6
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Matrices02 Answers for No.12621
ExerciseMatrices02 Answers for No.12621

01 : det(hA) = -16 02 : det(B) 17
03 : det(C) = =32 04 : det(D) = -3
05 : det(E) = 114 06 : det(F) = 42
07 : m*det (C)-det (pE) = -242 08 : det (m*D)-p*det (F) = -90
09 : x = -2 10 : y = -4

{ 5

Noll=|Inv(G)=| — 2|}, ,

-1 2
12 : det(A) = 23 x = =4 y = -5
13 : det(pa) = -1 x = 8 y = 4
14 : det(A) = =20 x = =5 y = -2 z = 3
15 : det(A) = -16 X = -0 y = =7 z = =3

X Math@MUT XXXXXXXXXXXXXKXXXXXXXXXXXXXXXKXXXKXX XXX XXX KXKXXKXKXXKXKXMS/1-6500311-00020XX
Matrices02 Answers for No.1l2641
ExerciseMatrices02 Answers for No.12641

01 : det(pA) = =23 02 : det(B) 10
03 : det(C) = -4 04 : det (D) = 220
05 : det(E) = 24 06 : det(F) 12
07 : m*det (C)-det(pE) = -196 08 : det (m*D)-p*det (F) = 196
09 : x =2 10 : vy = -4

-5 1

14 7

Noll=|v(G)=| 5 b

14 7
12 : det(A) = 18 x = 4 y = 8
13 : det(pa) = -1 x =3 y = =7
14 : det(na) = -1 X = 2 y = 5 z =4
15 : det(A) = -10 X =7 y = -6 z = =3

X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXKXXXKXXXKXXXXXXXXKXXM5/1-6500311-00021XX
Matrices02 Answers for No.1l2674
ExerciseMatrices02 Answers for No.12674

01 : det(p) = 8 02 : det(B) = -12
03 : det(C) = 23 04 : det(D) =1
05 : det(E) = -44 06 : det(F) = -112
07 : m*det (C)-det (pE) = 421 08 : det(m*D)-p*det (F) = 233
09 : x =3 10 : vy = -2
3 4
11 11
Noll =| Inv(G) = 5 3 , ,
11 11
12 : det(A) = -24 x = 8 y =5
13 : det(na) = -7 X = 2 y =7
14 det (A) = 24 x = 3 y = 6 z = 2
15 : det(A) = 10 X = 4 y = 2 z = =5
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Matrices02 Answers for No.12728
ExerciseMatrices02 Answers for No.12728

01 : det(na) = 19 02 : det(B) 15

03 : det(C) = 6 04 : det(D) = =72

05 : det(E) = -32 06 : det(F) =0

07 : m*det (C)-det (pE) = 44 08 : det (m*D)-p*det (F) = -288
09 : x = -4 10 : vy =2

-1 1
Noll =|Inv(G) = Z Z .
28
Y
Yy
Yy
Y

14
12 : det(pA) = -3 x = =3 = -5
13 : det(A) = =23 X 2 = -3
14 : det(p) = -1 X = 2 = -5 z = -3
15 : det(n) = -15 x =17 =6 z = -4
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